Hi Ian, regarding your interesting problems, this opened my eyes a bit. Please ignore the cube and dice, I just recreated the position later. In fact we're post Crawford and white has the cube so no cube action. Brown is hoping he doesn't throw a 6-3, but of course he does! The six is forced and there are three courses of action for the three, all leaving an 11/36 chance for white to hit next go. Problem continues below...
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Between those three equal possibilities, I suppose not hitting on the three is better as white may miss the 1 or 2 chance and choose to sit tight and to start breaking his board. 

But what made this interesting for me when I recreated this was the difference the choice of the three plays makes to the following brown move if in fact white doesn't hit. I know this is where the more experienced players look a bit further ahead rather than simply at the next move. 

If brown hits with the 3 and white fails to come on, 15/36 of brown's rolls cause him to leave one open again. Whereas if he moves the 3 from his five point, only 6-2 as a roll forces him to leave a shot next go if white misses. Moving the three from brown's four point is somewhere in between, but does leave a few double shots if white misses.  

